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............................. ,,
WEST CAMP + & 9 39,1 9,6 1360 : 40 ; 5:10 10:00 10:00 - luly 31st 16:00
............................. ) ,.s,
MCHS 57,5 18,4 2810 : 1450 : 8:00 17:40 :
............................. j ...........................n...................n...................n......................:-....................é..................-.......................n....................E............................
PASS BALK-BASHI 3 62,1 4,6 3870 : 1060 9:30 21:00 :
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RIVER CROSSING = 66,7 4,6 3870 ; 0 10:10 22:00 ;
............................. ﬁm
NORD CAMP + = ﬁ} @ A\ 9 73,8 7,1 4000 : 130 : 11:00 25:00:00 24:00:00 : August 1st 6:00
............................. ﬁ,\._,
PASS SEV. KARAKAJSKIJ = 83,1 9.3 4620 620 13:00 30:00:00
,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ,;
PASS KYRTYKAUSH - 90,7 7,6 5320 700 : 14:30 34:30:00
............................. +ﬁ,‘.
REFRESHMENT POINT1 = @ 95,9 5,2 5340 20 15:00 36:00:00
I + ,; & %% 9 m 111,2 15,3 5680 340 16:20 40:59:00 40:00:00 August 1st 22:00
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